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Average Lifespans of Animals
Animal Lifespan (yr) Animal Lifespan (yr)
Black Bear 18 Guinea Pig 4
Dog 12 Puma ?
Giraffe 10 Tiger 16
Gray Squirrel 10 Zebra ?

1. The lifespan of a black bear is 3 years
longer than the lifespan of a zebra.
Write an addition equation that you
could use to find the lifespan of a zebra.
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2. Solve your equation.
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ALGEBRA 1

s: Remember Distance = Rate x Time

Two airplanes leave Phoenix at the same time and fly in
opposite directions, One plane travels 60 miles per hour
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GEOMETRY

Allows you to draw a conclusion from conditional statements
in which the of the first
I.Aw UF statement is the of the second statement.

SYLLOGISM

Symbolic Map:

Directions: Use the Law of Syllogism fo give a valid conclusion.
If not possible, write no valid conclusion.

6. Given: Ifit is Saturday, then Jake has a baseball tournament.
If Jake has a baseball fournament, then he will need to pack his lunch.

7. Given: If a number is divisible by 12, then it is divisible by 6.
If @ number is divisible by 6, then it is divisible by 3.

8. Given: If a quadrilateral is a square, then it is arectangle.
If a quadrilateral is a rectangle, then it has four right angles.

9. Given: Ifit is sunny this weekend, then you will go boating.
If it is sunny this weekend, then you will wear shorts.

10. Given: If you shop at Target, then you will use your Target Red Card.
If you do not use your Target Red Card, then you will not get 5% off.

Conclusion:

11. Given: If it snows, then school will be canceled.
If school is canceled, then students will need to make-up a day of schooal.
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ALGEBRA 2

Using the given graph, make a gues: as to how to graph this —
functions, which is called a "Piecewise Function."
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PRE-CALCULUS

11. (8 points) A bread company has four different bakeries, each of which produces three types of bread: white, rye,
and whole wheat. The number of loaves of bread produced daily at each bakery is shown in the table. Put this
matrix in your calculator. You can call this matrix A.

wrd \,eé‘
Bakery A Bakery B Bakery C Bakery D Iy o
White 180 200 250 100 l,\

Rye 50 75

100 50

Whole Wheat | 200 250

300 175 E}o;q

Profit on each loaf of bread is $0.70 for white, $0.45 for rye and $0.50 for whole wheat. Write an appropriate
size matrix for these 3 numbers. Label columns and rows with words. You can call this matrix B.

Using matrices (SHOW THE ORDER YOU ARE MULITPLYING THEM — is it A*B or B*A), fi
the company rec from each bakery. Write your answer as a matrix and use

rows.
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{20 points = 5 points each) Assume that the rate of population growth of paramecia is given by the equation:
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